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2º ESO
Para dudas, puedes contactar conmigo en el siguiente e-mail: “miguel.sanjose@sanviatorvalladolid.com”.
Mañana día 3 comenzamos unas bien merecidas vacaciones. Esto quiere decir que hasta el día 14 de abril no tendríais que enviarme estos ejercicios. Mi recomendación es que los hagáis el mismo día que los recibís, durante la correspondiente hora de clase.  Os deseo, que disfrutéis de estas vacaciones tan atípicas.
Soluciones a los ejercicios anteriores.
1 Read the blog entry about green transport. How is the 30 Express Coach good for the environment?
It runs on electric and solar power and will save up to 860 tons of fuel a year, (lines 14-15 and 19-21)

2 Read the blog entry again. What do the following numbers refer to?

1. the number of cities in China with over a million people (lines 5-7)

2.  the number of cars, lorries, buses and motorbikes on the roads in China (lines 7-8)

3. the width of the 3D Express Coach in metres (lines 17-18)

4. the height of the 3D Express Coach in metres (lines 17-18)

5. the number of tons of fuel the 3D Express Coach will save each year (lines 19-20) 3  
3 Which questions does the blog entry answer? Answer those questions.
1. Cannot answer according to the blog entry.

2. By the year 2050, the Chinese will drive about a billion vehicles, (lines 8-10)

3. The Chinese produce electric bicycles. (lines 11-12)

4. It drives over traffic, (lines 14-15)

5. Shenzhen Hashi Future Parking Equipment designed the 3D Express Coach, (lines 16-17)

6. Cannot answer according to the blog entry.
4  Look at the chart in the blog entry. Why is the 3D Express Coach better than the London double-decker bus? Give three reasons.

1. More passengers can ride on it.

2. It travels at a greater speed.

3. It uses electricity and solar power, so it’s more environmentally friendly.

5 Find words in the text to match the definitions below.

1. increase

2. disastrous

3. replace

4. solar power

5. speed
A continuación Leéis y resumís en el cuaderno la teoría sobre la First Conditional aqui. No me enviéis la foto del resumen. Cuando sea necesario ya os lo pediré.
Por ultimo, realizais el siguiente ejercicio.

6 Complete the text with the verbs in brackets. Use the First Conditional.

Before you take the bus to school or get into your family car, think about this:

Unless you 1 ________________ (ride) a bike, your vehicle 2________________ (produce) a carbon footprint. Bikes are good for the environment, and there are other good reasons to use them. First of all, if you 3________________ (choose) this type of transport, your family 4________________  (save) money. If traffic 5
________________  (be) very bad in your area, you 6________________  also
________________  (arrive) at your  destination quickly by bike. Cycling is an ________________  sport,too. Your health7________________  (improve)

if you 8________________   (cycle) regularly. Bikes are a wonderful type of transport. They’re good for the environment and for your health.
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